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® 100cm? @1a ® 1ha
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@0.9hab:|:|m2 @ 600m?2 :Da
® 1.7t =] Jkg @ 80000kg =[ Jt

® 60ha=] |a
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@ 6t = 6000000g @ 500kg = 04t
(@)120000 g = 1200 kg @ 0.03kg=30g
® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120kg
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@ 42.3 + 18 ® 852+6

A

B

250 UEeAlS gof LHro]d o] 2] 2] ¢F o o] 7]
247 ot &z 00] A& U= ALR Pzt
Sl=2
D 19.92 + 8 = 2.49
@336+14=24
® 224 +7=0.32
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D 4.32+6=0.72
@ 5.95+7=0.85
® 4.96+4 =124
@ 1.71+3=057
® 5.28 + 8 = 0.66
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D 0.418 @ 0.374 @ 0.399 @0.542 ® 0.289
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@D 0.428 — 0.4

® 0.374 - 0.4

® 0.399 — 0.4

@ 0.545 — 0.5

® 0.289 — 0.3
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@ 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

@ 5km?, 500000 m?
@780000 m?2, 78 ha
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@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?
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D 6400m? = 640a @ 8.4km? = 8400 ha
@Q%a =29ha @ 24t = 2400 kg

® 70000000g = 7t
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@D 6400m? = 64 a

@ 8.4km? = 840 ha

@ 24t = 24000 kg

® 70000000g = 70t
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D 0.04 km? @ 0.4ha ® 400a
@400000 m?2 ® 4ha
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@ 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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D 48.08+8 @ 2.85+3 @72.8 +14
@ 162+6 ® 72.8+8
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@ 48.08 + 8 = 6.01
@ 2.85+3 =095
® 72.8+14=52
@ 1.62+6=0.27
®728+8=09.1
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